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Structured Essay euestions _ Answer all questions

I

1 ' l Explain briefly why statistics is imporranr in Medica! Laboratory Sciences.

(40 marks)
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1.2 Explain briefly the following.

Bar cliarls

(60 marks)

Variability

(

Descriptive stati stics

(

Correlation coeffi cient

\



2' A study u'as conducted to determine whether tliere is any association betweengrowth retardaiion 
- 
and hemoglobin level of infants. A random ,u*pi" of 400infants was selected from the Galle district. of the total, i00 children had Hb < 15(g/dL) and among them 40 had some fbrm of grorvth rerardation. Among otheri,fants (n= 300) 50 had some form of growth retar"dation.

2.1 State null and alternative lrypotheses. (20 marks)

(, 2.2 Draw, a 2 " 2 table for the above data and calculate expecteil i i-r-l'i i !iln/. ! 1]c

(20 marks)

-l
2.3 Tesr rhe hypothesis at 5% significance level (4S nrarks)
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2.4 What can you conclude lronl the results?

3. Write a short note on lilei-atui.c rcview hiohti^h,:_^ -,review. --vr! vri rrrsri':*ui-e revrew highrighting the purposes of literature
(I00 marks)

(?t) mar"i,s) (

((



2 o FF-B 
?l1'?(\

@

(i

A study rvas conducrcd to t'aluate tiie Lrsclullress of hlood giucose measuiementusinp dried canir1r,.1' |-r!1ar-1 s;i.:.,<r ()ir iiricr i;aircl.'r-rrr:,.ur,it. \&,cre cornpareci rvithblood glucose level measured using venous biood. The following figure illustratesthc rclatiorrslii;,.
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4.1 What are the variatrles used in this s1udr,?
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{'' 4.2 Describe the rerationship belr.veen the variabres. (30 rmarks)

4'3 It is found that correlation coelficienl (r) is significantiy different from zero.

4'3'l what is the test that shourd be used 10 come to the above concrusion?

{2{} mar?..s} (

4.3.2 I{ow do you interpret the resuits shoram in the figure? (30 marks)
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